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M.A. (Fourth Semester)
EXAMINATION, MAY-JUNE 2022

SOCIOLOGY
Paper XVIII

(Contemporary Issue in Industry-III)

Time : Three Hours] [Maximum Marks:80

   

Note : Attempt all sections as directed.



Section-A

 

(Objective/Multiple Choice Questions)



    

Note : Attempt all questions.

  

Choose the correct answer.

P.T.O.
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1. 
         
  

(A)  

(B)  

(C)  

(D)   

"Industrial societies certainly give rise to industrial rela-
tion which can be called the interrelationship of workers
managers and government". Whose statement is this:

(A) Encyclopedia Britanica

(B) P. H. Kesalman

(C) John Dunlop

(D) Oben & Finsten

 
   

(A) 

(B) 

(C) 

(D)  

Who considered collective bargaining as an alternative
to collective equality and scientific bargaining?

(A) Web

(B) Richardson

(C) Fllenders

(D) Fred Bitne
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3.        

(A) 

(B)  

(C) 

(D)  

Who wrote the book "Labour problems in Indian Indus-
try"?

(A) Webs

(B) V.V. Giri

(C) Lister

(D) G.D.H. Kaul

4. 
  

(A) 

(B) 

(C) 

(D)  

"Globalization is actually the integreation of markets, fi-
nance, technology", Whose statement is this?

(A) S.C. Johnes

(B) Keninson

(C) Friedman

(D) Anthony Giddens

[4]

F - 880

5.          


(A) 

(B) 

(C) 

(D) 

Industrial dispute are setteled by which of the following
method?

(A) Reconcillation

(B) Panch

(C) Over judgment

(D) All of above

6.      

(A) 

(B)  

(C)  

(D) 

Who published "Deen Bandhu Patrika"

(A) Lokhade

(B) A.R. Desai

(C) Pt. Nehru

(D) Webs
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7.         


(A)  

(B)  

(C) 

(D)  

"Industrialization accelerated the process of transforma-
tion in society", Who has clarified this statement in his
book 'Sociology'?

(A) August Comte

(B) Max Weber

(C) Durkheim

(D) Anthoni giddens

8.      

(A)  

(B) 

(C) 

(D)   

Who wrote the book "Sociology of family"?

(A) C.H. Cooley

(B) Elmer

(C) Aristotle

(D) MacIver & Page

P.T.O.
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9.     

(A) 

(B) 

(C) 

(D)  

'Religion is the belief on spiritual power' Whose state-
ment is this?

(A) Toyler

(B) Durkheim

(C) Johnson

(D) Redcliff Brown

10. 

      
 

(A)  

(B)  

(C)  

(D) 
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In which method of employee participation in manage-
ment, this arrangement is found such that in this level of
participation the employee get more responsibility and
authority and they have more autonomy in administration
and supervision related to work.

(A) Information participation

(B) Administrative participation

(C) Decision participation

(D) Companion participation

11.   

(A) 

(B) 

(C) 

(D) 

When did the Government of India pass the Emigration
Act.

(A) 

(B) 

(C) 

(D) 

P.T.O.
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12. 
 

(A)  

(B) 

(C)  

(D) 

The concept of foreign direct investment was introduced
during the tenure of which Prime Minister.

(A) Narsimha Rao

(B) Narendra Modi

(C) Atal Bihari Vajpayee

(D) Manmohan Singh

13.       

(A) 

(B) 

(C) 

(D) 

When was the 'Make in India' program started?

(A) 

(B) 

(C) 

(D) 
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14.   

(A)   

(B)   

(C)   

(D)  

When did the trade union act come into force?

(A) 1 June 1927

(B) 1 May 1926

(C) 1 June 1926

(D) None of the above

15.  

(A) 

(B) 1934

(C) 1938

(D) 1943

When did the child employment act come into force?

(A) 

(B) 1934

(C) 1938

(D) 1943

P.T.O.
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16. WTO    

(A)   

(B)   

(C)   

(D)   

When did the WTO agreement come into force?

(A) 1 January 1995

(B) 1 January 1996

(C) 1 February 1995

(D) 1 February 1996

17. 
  

(A) 1991

(B) 1992

(C) 1998

(D) 1990

The government to solve the problem of child labour is
reflected in the declaration of which national agenda of
government?

(A) 1991

(B) 1992

(C) 1998

(D) 1990
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18. 

(A)  

(B)  

(C)  

(D) 

Problem caused by Industrialization  is :

(A) Population

(B) Community disorganization

(C) Individual disorganization

(D) All of above

19. 


(A) 1970

(B) 1971

(C) 1972

(D) 1973

When was the United Nations Environment established
at international level?

(A) 1970

(B) 1971

(C) 1972

(D) 1973

P.T.O.
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20.         
  

(A) 

(B)  

(C)  

(D) 

The union of employee maintain their working condition,
whose statement is this :

(A) Lester

(B) Max Weber

(C) Karl Marx

(D) Angil

 

Section -B

  

(Very Short Answer Type Question)

(1.5 marks each)

  

Note : Attempt all questions.

  

What is meant by Industrial Relations?
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

What do you understand by conciliation?

  

What is meant by collective bargaining?

       

State (3) three characteristics of service class manage-
ment.

  

What is meant by labour union?

 

What is meant by migration?

 

What is industrial conflict?

  ?

What is meant by 'Childlabour'?

     

Explain social stratification.

     

Explain Government efforts for security of women labour.

P.T.O.
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

(Section-C)

 

(Short Answer Type Questions)

(2.5 marks each)

  

Note : Attempt all questions.

       

Explain the objectives of collective Bargaining.

       

State the main objective of workers participation in man-
agement.

          


Explain the challenges of privatization and globalization
in trade union.

    

State the modern changes in the family.

  

What is foreign direct investment.

       

Explain the impact of industrialization on religion.

        
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Explain the causes of migration among workers.

8       

Mention the problems of women workers.

       

Clarify the impact of Industrialization on Environment.

       

Explain the problems of developing countries.



(Section-D)

 

(Long Answer Type Questions)

(4 marks each)

    

Note : Attempt all questions.

 
 

What is conflict? Describe the types and causes of con-
flict in Industry.

OR

      

Explain in detail about collective bargaining.

   

Discuss Historical background of trade union in India.
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OR

  

What do you mean by Globalization? Explain it.

        

Discuss the impact of industrialization on religion.

OR

   

Write short essay on migration.

           
 

Throw light on the role of 3rd world bank in the develop-
ment of third world countries.

OR

  

Discuss the profit and loss of foreign direct investment.

5.       

Write a detailed note on Industrialization and Environ-
ment.

OR

          
        

Discuss child labour and discuss the legal provisions for
the protection of child labour in India.


